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1. (B) Second is the act of cutting the first.

2. (B} Second denotes the activity of the first.
3. (B)294=72x(7-1)

1584 = 122 x (12 - 1)
4. {CjSecond is the specialist doctor of first.
5. (B) 12 % 8 = 96 -----REVERSE----69

16 23=48 -----REVERSE----84

6. (B) All except Cotton are synthetic fibres.

7. (D) After jumbling the letters, we have
RPULJA - JAIPUR
SASMA - ASSAM
MUPIRNA - MANIPUR
RIPSA - PARIS
All, except Paris, are cities of India

8. (C)S27=17x31,299=13x23,323= 17 x 19
and 399 =19 x 21. As, 399 is not a product of
prime numbers.

9. (D)GO=(20+12)+(5x2)=
MILK=(14 + 18+ 15+ 16)+ (B x 4) = 83
Pattern is individual sum of Letter code ;
then add (product of 5 and number of Let

10.
11. (D} Watch 1 loses 2 min in 1 d i
Watch 2 gains 2 min in

Whlch’\ 3

revolution,

(720)(1

102 2-6 = 198
198 x 2-6=3890
13. (D) ‘Father of Degpak's daughter's father
Deepak's father. So, the man's brother is
Deepak’s father or the man is the brother of
Deepak’s father i.e. Deepak's uncle.
14, (A} Wehave: A=1,B=2,C=3,
Z =26,
Clearly, the code for a word is obtained by
dividing the sum of the individual values of
its letters by the number of letters in the
word.
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(15-16)

(H+ O+ T+ B+ 1)
5
(8+15+20+5+12)
5
(L+A+M+B)
Li i
(12+1+13+2)
4

Thus, HOTEL =

60

So, LAMB =

2z 3 i
FlalBedlord|M ﬁlﬁmbassadm‘i argdfCardilagMercede

sl 6 1 7

15.

18. (D)

19.

20.

21.

22.

(B) Carcﬁla@am at the sixth place which is

8 2+1<11+5x14
" =8-2<11+70
= 6 < 81 is correct relation.

Tall
men

Black
haired

[ &

Indians .2

(D) 12 x 2.5+ 16 x 0.5 = 30 + 8 = 38

l6x25+42x065-40+21-61

28 x 2,5+ 60x0.5=70+30=100
(C)(8-1) % (12-1)=7x11=77

(12—1) % (13-1}=11 % 12 =132

{16 - 1) x {23 - 1) = 15 = 22 = 330
(D) The sequence is B, C, E, A, D. So, D read
the newspaper at last.
{C) Clearly, it is a 4 x 4 x 4 cube. Below is a
cross-section of the cube. Each edge has 2
cubes with 2 faces "RED". ’
Hence, number of small cubes painted RED
on 2 faces = number of edges <2 = 12 x2

= 24 cubes

Ri{R
R R
R R
R{R
Or we can use the direct formula: n — 2)x12.
{where n is the length of edge)

=(4-21 %12 [Put n = 4}

=92 %12

=24
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27.

29,

32,

IPS officer, has been appointed as the new
Chief Executive Officer (CEQ) of the National
Intelligence Grid (NATGRID} and will hold
charge till December 317, 2018, He is the son-
in-law of former Prime Minister Manmohan
Singh. Currently, Patnaik is posted as

23. (C) 33. {B) The book "Ringside with Vijender” has
24. (C}) been authored by Rudraneil Sengupta, the
25. ([B) deputy editor of Lounge (the weekly feature
26, B} Ashok Patnaik, a 1983-batch Gujarat cadre magazine of Mint). The book throws light on

the Beijing Olympics bronze medallist boxer
Vijender Singh's sudden dec1s1oré )
just a year ahead of the 2016 Rm\l%Ol mpics It'
also portrays the moment wheu 'endra was
awarded India's highest spoz shel oriour ‘Rajiv
Gandhi Khel Ratna Awaid, Besuie th1s it also

Additional Director in the Intelligence contains his struggles, ch ';gesf#ah1s boxing
Bureau {IB). The NATGRID is an ambitious style, traiming and i réonal life.
intelligence network project to strengthen | 34. (D) Galacto Oligosacchar ides {GOSB), also

counter-terror capabilities of
enforcement agencies.

(D} Down syndrome is caused due to three
copies of the genes on chromesome 21, rather
than the usual two. The parents of the affected

individual are typically genetically normal.

Those who have one child with Down |
iy

parents are found to have normal kaxyot)%i ]
stgs

syndrome have about a 1% risk of having
second child with the syndrome, if b

(A) Rajaraja Chola, popularly known ag!
g

emperors of the Tam.ll Chola En:

rés
who ruled between 985 sgad fQI@J&% By

conquering several small kmgglorrf% inSouth
India, he expanded the ‘Chola:

as Sri Lanka in
{Orissa) in the o gast. Ghie of the last
s the naval conquest

conquests of Eag ja v 34
of the 'old 1$and &te sea numbering

fuding money from borrowings).
iffers from debt, which is an
tion of yearly deficits.

ad become an important tool to facilitate the
development of the Indian economy. The
Government of India issued an ordinance
('Banking Companies {Acquisition and
Transfer of Undertakings} Ordinance, 1969
and nationalised the 14 largest commercial

banks with effect from the midnight of 19™

July 1969.

(C) During his five year rule from 1540 to
1545, Sher Shah Suri set up a new civic and
military administration, issued the first

Rupiya and reorganised the postal systemn of

India.

law

\gmpire as far
‘e SO bh,,\;%ﬁd Kalinga

‘the 1960s, the Indian banking industry

known as olif ogalac se, beiong to the group
of prebiot: {s.It is haturally found in soybeans
and cqn be synthesmed from lactose. GOS
0CCRES,] macommermal available products such
as feod fqr both infants and adults.

35:»(A} E”Ehynp

e 2{Hc CH)
D) 1

'wo major measures for inflation, which
@.re W1de1y used, are Wholesale Price Index
(WPI) and Consumer Price Index (CPL}.WFI
measures the increase in the prices of a fixxed
basket of goods prevailing in the wholesale
market while CPI measures the increase in
the prices of essential commodities purchased
by an average consumer prevailing in the
retail market. Measured weekly, WFI is the
primary inflation measure in India. '

(C) Harika Dronavalli, an Indian chess
grandmaster, has won the 2016 Fide
Women's Grand Prix trophy by defeating

37.

12,000, r;-_ Russia's Olga Girya in the final in Chendu,
30. {D) Fis ‘ S hen a government’s total China.
' expe éc exceed the revenue that it | 39. (B) World's largest temple is Angkor Wat,

located in Angkor, Cambodia. This temple was
built by Khmer King Suryavarman II in 12%
century as his state temple and, capital city.
(B} The earliest evidence of Agriculture in
Indian subcontinent is found at Mehrgarh,
which is located in Balochistan state of
Pakistan.

(B} River Hoover dam is a concrete and gravity
dam in black canyon of the Colorado river on
the Border between the US states of Arizona
and Nevada.

(A) There are no computers with the name
as in other options. UNIVAC was the first
general purpose electronic digital computer
designed for commercial use, produced by
Universal Accounting Company of John
Mauchly and J.P.Eckert in 1951,

40,

42,

44,

PINNACLE LEARNING DESTINATION




5

R

nation

N

Learning Dresti

Pinnacle Learning Destination
% Plot No.3 Third Floor Main Road
Raghunathpur, Sector 22 -Noida,
Uttar Pradesh
Pin-201301Ph-+91-9555662244

45. {A) The Treaty of Bassein (Now called Vasai)
was a pact signed on December 31%, 1802
between the British East India Company and
Baji Rao iI, the Maratha peshwa of Pune
(Poona} in India after the Battle of Poona. The
treaty was a decisive step in the dissolution
of the Maratha Confederacy, which led to the
East India Company's usurpation of the
peshwa's territories in western India in 1818,

47. (D} Pipavav Shipyard was established in 1997
at west coast of Saurashtra, Gujarat and it is
one of the largest and leading shipbuilding
company in India that is spread over 500
acres. It was the first corporate shipyard to
be granted clearance to build 5 warships per
year and currently it is executing a naval
offshore patrol vessel.

20. (A) Comma bacillus or Vibrio cholerae is a
gram negative comma-shaped bacterium
with a polar flagellum that causes cholera in

humans.
S1. (B) A—> 10 3
30
B - 15 2

5 days work of A & B = 25 urg;%t
Remain work = 5 units *
efficiency of C = 2.5 um‘%&% day

i

& 1;%
6000 b B

wages of A = Tﬁ» x3 %§6Q@?

o G

Both

~. Total pass% = 100 — (35 + 17 + 25) = 23%
53, {C) —— 80 km
At

iB
Let the speed of current = y km/h
Speed of boat in still water = 13 km/h
ATQ,
80 80
+
13+y 13-y
On solving, y= 3
- speed of current = 3 km/hr

=13 (i)
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4.

57.

- (A} o xy=1

(A) 10 3
30
15 2

man came back after 6 minut
. . 10
- efficiency of pipe C= — u

30 %

i 1 =
Required time 10

x 45(784 + 49 + 196)

1 22 x 1029
Z x££
3 7

= 48510 cu. cm

1
X+ —=5+3
X

> +y° + 3xy 4051
x’+yz~—‘.2xy_ch+i_2w 252
x2

(A)

(A
(A

AB=58cm=x+y
BC=6bcm=y+z
AC=7Tcm=z+x
AAx+ y+2)=5+6+7=18

= x+ty+z=9

= S5+z=9=z=4cn
x=7—-z=3cmand y=6-z=2cm
x=3cm,y=2cm, z=4%cm
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58. (B) Let the two numbers be xand ¥

then, x x y= 24{x- 4 64. (B) 50% = -]2“, 33%% = é, 16%% = é
The above equation is satisfied for x = 8 and >
y= 6.
8 x 6 =24(8 ~6) Vivek : Aryan @ Alka . Priva %
= x=8,y=6 3 2 2 2
Larger no. = 8 *3 5 &
59. (C} Let the number of wickets taken by the .4 .4 4
cricketer before the last mateh =
12.4x 4+ 26
ATQ, = ——=— =122

2 12,4 X+ 26 = 12, 2x+ 61
0.2 x=61-26=35

35 350 65. (C) In the nght anglef} triangle the length of
X*o2" 2 ¥ 175 potenuse is half the length
6()\7 (C} 260: (25)12 = (32)12 -
343: (34)12 = (81)12
524 = (52)12 - {25]12
43 = (4312 = (B4)12
it's clear that 3* is the greatest,
61, (D)H.C.F=4 ;
\ no. be - 4x, 4y, xy, where x, ysare
Co-Prime, then ;
4y +4y=36,4(x+yi= 36
x+y=9
\  Possible pairs = (1 . 8} (g 5"_ :

1
Hence, B} = ‘2“' AC =3 cm

1
62. (A) 50% = 7, 159

66. (D
CP SP ®) Ay
: * 220 i
1
B
30° 60° !
D C 1 B
< J2 »

Distance covered by the man = DC

30
= %0vs -

60
= Tgm= QO\EBm

67. (A) Area of path = x{I + [ -

1 1 _
x4+—-—)(xa+——)= 5 = 5(60 + 40 - 5)
( * &) =198 1154 =5 %95 = 475 m?

&0
=¥ 285
100

&+ j; = 198 x 1154 — 6 = 228486 - Total cost = 475 x
x
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68. {A) This graph shows AB is a straight line
which passes through the origin.

(-4, -3)

-
+

69. (A} Let the age of father and son be
S50 xand 20 x years.
ATQ,
SOx*20x=1000=3 x=1
\  Age of father after 10 years will be
50 + 10 = 60 years
70.  (A)

S. I for 2 years = 8% » Diff =
C. L. for 2 years = 8.16%)

800 <100
6 -

Required sum =

=¥ 5000

71. Alechol

(A) : water
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72.

et

75.

’éﬁ%(

4
) 3tan0+4-0 =tanf~ =

[~ sin 8 is positi
negative in II gt

ey

B) Réguijred answer

=} Totad production of state B = 12 + 18 +
18 = 48 lakh bales

Total production of state A = 6 + 14 + 21
= 4] lakh bales

(B} Average production inn 1992-93

6+124+5+16+8
= ———sw—— = 9.4 Jakh bales

Average production in - 1993-94

~14+18+9+9+14
S

64
= 5 12.8 lakh bales

Two states A & E showed below average
production in 1992-93 that showed above
average production in 1993-94,
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MEANINGS IN ALPHABETICAL ORDER

Word
Addendum
Berserk
Bewildered

Catalogue

Comprehension
Compulsion
Credo

Emancipation

Epilogue

Eradicate
Fanatic
Palpable
Perturbance
Stoke about
Sustained

Syncopate

Unassailable

‘xgg'}.é;

4?

“;f,r
%‘,\K
T‘

y, U
@}

cont&humg I‘e@a,n i:tended period or without interruption &t
’?‘agrtem;(a )p:ord} by dropping sounds or letters in the middle % & =ol w W=} wi
Fer T B T

ﬁ@?ﬂ to be attacked, questioned, or defeated 1y, I
;%Toud and impassioned noise or disturbance YO, Fewed

" strong, healthy, and full of energy Sieiicn, 3w | WY
having or showing a strong or unreasoning desire for revenge Wiy & U g
susceptible to physical or emotional attack or harm siftrdaETeie, S
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Meaning in English Meaning in Hindi

an item of additional material
(of a person or animal) out of control with anger or excitement WT& & FgFﬂ
perplexed and confused
a complete list of items, typically one in alphabetical or
other systematic order, in particular 4
the capability of understanding something
state of being forced to do something

a statement of the beliefs or aims that guide @méeﬂe":s

political restrictions
a section at the end of a book or pl:
to what has happened U, STHER

destroy completely; put & g @ faer, @@ &
4

filled with or expressi G
able to be felt . HEGR FE A
T, e

anxiety; mental ;

To stir u“p“ a.mgfg feed%‘sometmng g, §9H T
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< g ey on 27 APl of ¢
L. (B 26. (B) 51.
2 B 27. (D) 59. ((E;
S (B) 28. (B) 53. ()
4 (C) 29. (A) 54. (A)
S (B 30. (O} 55. (A)
6. (B 31. () 56. (A)
7. (D) 32. (C) 57. (A)
8. (C) 33. (B) 58. (B)
9. (D) 34. (D) 59. (C
10. (C) 35. (4) ¢
11. (D) 36. (D)
12. (<) 37. Q)
13. (D) 38. (A)
14. {A) 39. B)
15. (B) 40.
16. (D) 41.
17. (D) _ 42,
18. (D) 43.
;g- (D} 44, |(

- (C) 45, (&7,
21. (D) 46, (giyf’;ﬁ Y
22, (C) 57% W
23. (¢ §48. B,
24. (C) W 497 (Ch
25 ’ 100. ()

. B %, 50%
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